
Acidi e Basi
concentrazioni piccole



Acido Forte

HA indissociato in 
acqua

 

Ionizzazione di HA

 

Soluzione acquosa 
finale

 

HA -> A- - H+

Ca      -     -
-       Ca   Ca

H2O     -> OH- - H+

55.56        -       Ca
55.56-x     x      x+Ca



Acido Forte

Kw = [OH-][H+] = (Ca + x) x 

x2 + x Ca - Kw = 0

[H+]eq = Ca + x



Acido Forte

-logCa

pH

7

7

pH = - log Ca

equazione non 
semplificata pH



Acido Debole

HA         H+  +   A-

Ca           -          - 
Ca-x      x+y       x
H2O         H+   +  OH-

55.56        -         - 
55.56-y    y+x      y

Ka = [(x+y) x] / (Ca - x) 

Kw = (x+y) y


